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ERBR|ERLTT (BT PR T m3 92 90

A BEAI T m3 5 5

ZEERIT (VLZEEER | L1012 m2 750 750

RIEmEmER  |1:15 m2 463 460

BEIMET  [EROET EREEEE L=35.0kmLL T | m3 92 90

FET |BFERI |BFERMGIL) (£ EZRBRE-CorET[ m 375 375

PHE MR (L) HEBBA-Cov-VET | m 723 723

ERERF(RET [EBRET  |REGES) L=19.5kmELTF m2 2,062 2,060

MERSE ke 5,362 5,360

T WHET FAI7Ik BEREL ' =72As(13) t=5cm m2 1,901 1,900

=T LAYy BABHEAS(20) FEi5t=Tcm| m2 2,243 2,240

ImEB LI Al T ASEEMALIEL =0 Okm AT & m2 335 340

95y 0E Y—bR W=0.3m m 78 80

okt T | &K EKME LT |M700x600 #41000x900x150H H 17 17

A1700x750 4+1000x10500x150H = 2 2

N800x600 #11100x900x150H E 6 6

P1800x900 4} 1100x1200x150H - 1 1

BB T | RE{RI TS 64 fg;;“’_”’ +dF Gr-A-4E m 723 723

ﬁé_’x“%/—}b thF Gr-A-4E m 723 723

E[—H,i—uﬁ REHAES100| 4 36 36

RESL |[RERT |[FRIRER |[oo o m| 1118|1120

BEI |@EIT FAN—TRE |[PEEAEALS m| 11| 1120

WEREI [BAMETL |7AHA—THE [V=0209m3/10m H=120| m 1,118 1,120

AsFOEWRLE  [L=115kmU T m3 23 23

RE&T |{REXGr {REXGra% & - 2 (320 - F VATA m 950 950

fRERGriEH - BikE " = 1 1

FEEET [REXGrEkE - = |HEN —FL-1 m 60 60

fRERGriEH - BiKE " = 1 1

REEEI [REFEERE (A o 1 1

B = 1 1

TERHT (BRSSO o 1 1
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FRYEY T8 m3 92
A AHEAI (GRE) T m3 5
ZEERL
Y LEEER m2 750
BIEEmER m2 463
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BT EHEEREA (L) YL HEBERA (L)
B:(| ik c8 c9 5 =
W AR Ty T BrEfE Ty T=

feio

104 + 5.000 0.110 P&

113 + 10.000 185.000 0.110 0.11 204

INEt

113 + 10.000 0.070 B E

126 250.000 0.070 0.07 17.5

INEE

126 Ruo R

127 20.000

INEt

127 0.110 Y&

133 + 15.000 135.000 0.110 0.11 14.9

N

133 + 15.000 0.070 B E

141 145.000 0.070 0.07 10.2

N

141 0.110 Y&

143 + 15.000 55.000 0.110 0.11 6.1

N

143 + 15.000 0.070 B E

160 + 3.000 328.000 0.070 0.07 23.0

INEE

& 1,118.000 50.7 414 92.1

BT IBREIRE (L) YL SRR B IRE (L)
A=0.07m2 (BE L THMKSE) A=0.11m2(BE L THMRSE)

UrHER 375.000

BrHER 723.000
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AAEEIT
ADEEI(GHE) BRI
WrEfE (1 &R HY)
EE RS =]
A= 13 m x 04 m x 02 m = 0104 m3
BIHNER L= 723 m
SR &
723 m =+ 20 m /1T = 36.150
= 36
V= 0.104 m3 X 36 T = 3.744 m3 40
AAEHI () YILE
BrEfE (1 &R HY)
i RS =]
A= 08 m x 04 m x 02 m = 0064 m
UL EBER L= 375 m
SR &
375 m =+ 20 m /1T = 18.750
= 19
V= 0.064 ni X 19 &R = 1.216 m3 1.0
&5t m3 5.0
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Bt EEEER UL EEEER
B = k=3 " &
AR T i E=R Fiy g
No. 104 + 5.000 2.000 Y&
No. 113 + 10.000 185.000 2.000 2.00 3700
i\,
No. 113 + 10.000 0.640 i
No. 126 250.000 0.640 0.64 160.0
I
No. 126 Ryo R
No. 127 20.000
i\,
No. 127 2.000 YL 58
No. 133 + 15.000 135.000 2.000 2.00 270.0
INET
No. 133 + 15.000 0.640 i
No. 141 145.000 0.640 0.64 92.8
i\,
No. 141 + 0.000 2.000 YL 58
No. 143 + 15.000 55.000 2.000 2.00 110.0
I
No. 143 + 15.000 0.640 i
No. 160 + 3.000 328.000 0.640 0.64 209.9
i\,
it 1,118.000 462.7 750.0
Ut HER 375.000
EAIMER 723.000
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FREAR (81 1) ZRL=2.0m m 375
BhEMR (L) ERL=1.0m m 723
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BREMR (UL ERL=2.0m)

B = k=3 " &
AR T i E=R Fiy g
No. 104 + 5.000 2.000 Y&
No. 113 + 10.000 185.000 2.000 2.00 3700
i\,
No. 113 + 10.000 1.000 i
No. 126 250.000 1,000 1.00 250.0
I
No. 126 Ryo R
No. 127 20.000
i\,
No. 127 2.000 YL 58
No. 133 + 15.000 135.000 2.000 2.00 270.0
INET
No. 133 + 15.000 1.000 i
No. 141 + 0.000 145.000 1.000 1.00 145.0
i\,
No. 141 + 0.000 2.000 YL 58
No. 143 + 15.000 55.000 2.000 2.00 110.0
I
No. 143 + 15.000 1.000 i
No. 160 + 3.000 328.000 1.000 1.00 328.0
i\,
it 1,118.000 7230 750.0
Ut HER 375.000
EAIMER 723.000
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LAY LT FAEEHEA (20) ¥=2100m  FAE t=Tom
(10m&Y)
] B iR N B B = i =
BREEHR (L1LEB) Z=F{=2.0m L=1.0m #& 10.0
HEJovy [=2.0m {& 5.0
(avo)—ri—)
avhy—k 18-8-40 60%  m’ 0. 62 HET Dy )IERRE
B th#1 m’ 0.06
EMRA RC-40 m’ 6.90
m 0.69




PrEMR (BELED)

BuHER
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FRZ27NbH=T
= A Rl et . 4

t=10cm
30252
t=10cm
\@p
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BREREL

LA LTI SEENEAs(20)

IR IS

[

BEAKIEBREE (5" -52727784 (13)) W=1700mm
W=2100mn  FHYM t=Tem

3t &R RRFE S

(10m4 Y)
1 g Bk st sk Eg o i )
DHER (Rt ER) 1000%10¢1100 | 4% 10.0 15 - ERSEAT
=5 D10 L=300 x 20.0
Lrrvh- SERAEESALE D10  L=400 x 20.0
(IvHY— k=)
avsy—k m’ 0.42
B bt m’ 0.04
HBRE RC-40 m? 5.50
m 0. 55




[(RET HMERHR

oAl # Al wWO® B # = i
BRET
PRET(ELE) m 1,012
MEI(WILER) m 1,050
&t 2,062
NELHE kg 5,362 =LY

2.6kg/m2
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BREHBRET YL EBRET
p:[] EE B B =
E=E T miE ER Ty miE

104 + 5.000 2.800 g+ &B
113 + 10.000 185.000 2.800 2.80 518.0
IR
113 + 10.000 1.400 B
126 250.000 1.400 1.40 350.0
IMEE
126 RyoX
127 20.000
INET
127 2.800 g+ &B
133 + 15.000 135.000 2.800 2.80 378.0
IMEE
133 + 15.000 1.400 B
141 145.000 1.400 1.40 203.0
IMEE
141 + 0.000 2.800 g+ &B
143 + 15.000 55.000 2.800 2.80 154.0
IMEE
143 + 15.000 1.400 B
160 + 3.000 328.000 1.400 1.40 459.2
IMEE

it 1,118.000 1,012.2 1,050.0
UL EER 375.000
BT EER 723.000

EIEBRET UL ERET

L=0.4+1.0=1.4+m L=0.8+2.0=2.8m
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BET WEKIHE

oAl wooA B % AL = i
BRE AL
BEREBT R—FXAs(13) t=5cm m 1,901
LY BARMEAS20) FiJt=Tcm | m 2,243
ImRER YN HI T AsFERRLIE L=9.0kmL T m 335
Iy 0E 2 —bkiRY W=0. 3m m 78




B % I ¢t B =
BERETL LAYy
pil| ik R—5ZAs(13) t=5cm BHAMPEAS20) F¥t=Tcm | f&
L= 1 EiE LEIE 15 EiE
No. 104 + 5.000 1.700 2.100
No. 113 + 10.000 185.000 1.700 1.70 3145 2.100 2.10 3885
INET
No. 113 + 10.000 1.700 2.100
No. 120 130.000 1.700 1.70 221.0 2.100 2.10 273.0
NGt
No. 120 1.700 2.100
No. 122 + 10.000 50.000 1.700 1.70 85.0 2.100
INET
No. 122 + 10.000 1.700 2.100
No. 143 + 15.000 425.000 1.700 1.70 722.5 2.100 2.10 8925
NGt
No. 143 + 15.000 1.700 2.100
No. 160 + 3.000 328.000 1.700 1.70 557.6 2.100 2.10 688.8
INET
1,118.000 1,900.6 2,242.8




LAYV BESENEHEE

LRyvy

p:[| = ik " &

s Y EHMER
No. 104 + 5.000 0.015 h=65-50
No. 106 + 10.000 45.000 0.010 0.01 05 h=60-50
No. 108 + 10.000 40.000 0.020 0.02 0.8 h=70-50
No. 110 + 10.000 40.000 0.020 0.02 0.8 h=70-50
No. 113 50.000 0.030 0.03 15 h=80-50
No. 115 + 5.000 45.000 0.060 0.05 2.3 h=110-50
No. 117 + 10.000 45.000 0.035 0.05 2.3 h=85-50
No. 120 50.000 0.000 0.02 1.0 h=50-50
No. 122 + 10.000 50.000 0.110 0.06 3.0 h=160-50
No. 125 50.000 0.055 0.08 40 h=105-50
No. 127 + 10.000 50.000 0.055 0.06 3.0 h=105-50
No. 130 50.000 0.055 0.06 30 h=105-50
No. 132 40.000 0.075 0.07 2.8 h=125-50
No. 133 + 15.000 35.000 0.060 0.07 25 h=110-50
No. 135 25.000 0.070 0.07 1.8 h=120-50
No. 137 + 10.000 50.000 0.050 0.06 3.0 h=100-50
No. 140 50.000 0.035 0.04 2.0 h=85-50
No. 141 20.000 0.035 0.04 0.8 h=85-50
No. 142 20.000 0.075 0.06 1.2 h=125-50
No. 143 + 15.000 35.000 0.100 0.09 32 h=150-50
No. 145 25.000 0.035 0.07 1.8 h=85-50
No. 149 80.000 0.105 0.07 5.6 h=155-50
No. 151 40.000 0.090 0.10 40 h=140-50
No. 152 + 10.000 30.000 0.110 0.10 3.0 h=160-50
No. 154 30.000 0.075 0.09 2.7 h=125-50
No. 157 60.000 0.240 0.16 9.6 h=290-50
No. 158 + 15.000 35.000 0.070 0.16 5.6 h=120-50
No. 160 + 3.000 28.000 0.095 0.08 2.2 h=145-50

E 1,118.000 74.0

LAYV EHE: = EHEmEmEmM2) - BERmM)

= 74.000 = 1,118.000

0.07
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15 B = = =X va =
WET
tHEImER YIHIT
| 300
[ FHE t= 25 mm
T
No. 104 + 5000 ~ No. 160 + 3.000 L= 1118.000 m
2 L= 1,118.000 m
A= 03m x 11180 m = 3354 m m 335
V= 335 m x 00250 m = 8375 m m 8




95vOMEBIT N R &

15 Hi =1 = ==X =
HWET

259 —k

EIER

No. 104 + 5000 ~ No. 160 + 3.000 L= 11180 m
IO EFRE (1 &/ 30mERE)
11180 = 30.0 N= 37 &m
IoyIERAVER L= 21 m
I5v il — b ER
370 X 2.1 L= 777 m m 78
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g bt Al iR 1% ==Xy = & =
ST
DU JL—Foo&E %
m:ﬁ'ﬁ?‘f’ g A1700x600 4}1000x900x150H HAT 17 |L7807820
IL-Fo9EFA) W700
JL—FrT&E %
" R1700x750 ¥+1000x10500x150H | E&FR 2 [L800™820
W850
JL—Foo&E %
" A1800x600 #}1100x900x150H HAT 6 [L8857900
W7007710
JL—FrT&E %
" R1800x900 #}1100x1200x150H R 1 |L8207900
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wE pel| JL—Foo% &
L(mm) = W(mm) 3D
80 |No. 104 + 10.000 890 700 1
79 |No. 106 + 10.000 890 700 1
78 |No. 108 + 10.000 885 700 1
77 |No. 110 + 10.000 885 700 1
76 |No. 113 885 700 1
75 |No. 115 + 5.000 885 700 1
74 |No. 117 + 10.000 820 850 1
73 |No. 120 820 700 1
72 |No. 122 + 10.000 820 900 1
71 |No. 125 820 700 1
70 |No. 127 + 10.000 820 700 1
69 |[No. 130 820 700 1
68 |No. 132 820 700 1
67 |No. 133 + 15.000 820 700 1
66 |No. 135 820 700 1
65 |No. 137 + 10.000 820 700 1
64 |No. 140 820 700 1
63 |No. 142 820 700 1
62 |No. 143 + 15.000 820 700 1
61 |No. 145 820 700 1
60 |No. 149 820 700 1
59 |No. 151 820 700 1
58 |No. 152 + 10.000 820 700 1
57 |No. 154 820 850 1
56 |No. 157 820 700 1
55 |No. 158 + 15.000 820 700 1
26
JL—Foi%&
820 700 17
820 850 2
820 900 1
885 700 4
890 700 2
26
7807820 700 17
8007820 850 2
8007820 900 1
8857900 7007710 6




mMESLITRER BHURER

HWEEE H=150
BRES BRES
iﬁﬁ?ﬁ;ﬁ%&m ELBLIALTUH—
2a—RUR#101
SRR
g B K+ & B ol = i =
ZE LITREZR BT 1.0
EHTIHALTOH— D10 X 12.0
a4y ) — hElT fl. 24.0
EER Y31k vb #101 AT 1.0




ML MERE

Bl W A BO® Bfr = i
BREIBHEEMR T
A—RL—ILBE THA Gr-A-4E m 723
AH—FL—ILBRE |LHHA Gr-A-4E m 723




B Bs E M T N RE

5 H B g = BT M =E
R RIS AR
- BRE|Gr-A-4E
AA(EYHR) B XE
No. 113 + 10000 ~ No. 126 L= 250.000 m 250
No. 133 + 15000 ~ No. 141 L= 145.000 m 145
No. 143 + 15000 ~ No. 160 +  3.000 L= 328.000 m 328

2= 723000 m | m 723




ERAEMI HEEHE

&l WA B LT g |
R EE
RRFEE tohiA , " 0
i S (A)  |REHARR 6 10001, XAERE 634
" GEUA REHAEGI00UT | & 36




RIFEEEFE ARE (ZHERD)

B B &t " Ea BHii| # 8
RIRFEZR
BWE-RE(LHERA
£]+ X
No. 104 + 5000 ~ No. 113 + 10000 L= 185.000 m 185
No. 127 + 0000 ~ No. 133 + 15000 L= 135.000 m 135
No. 141 + 0000 ~ No. 143 + 15000 L= 55.000 m 55
IL= 375000 m| m 375

BE-REAK

375 = 20 m/ 7 = 19 =K
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15 B &t -1 = Hig| #% =
RIRFEZ
W - RE|GrEY T
B+ X
No. 113 + 10000 ~ No. 126 + 0000 L= 250.000 m 250
No. 133 + 15000 ~ No. 141 + 0000 L= 145.000 m 145
No. 143 + 15000 ~ No. 160 +  3.000 L= 328.000 m 328
Y L= 723000 m | m 723

BE-REAK

723 = 20 m/ 7 = 3 XK
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XE#HT

ERHRAMALER

E B 20cm m 1,118




X E & T ARE
2_H " = e g
T
RER | ERIMIR EHR B 200m
A
No. 104 + 5000 ~ No. 160 + 3.000 L= 1,118000 m | m 1,118
2L= 1,118000 m | m 1,118




BRI BEEIHFE

oAl wooA B % AL = i
BAEIT
TAH—THE V=0.3m3/10m H=160 m 1,118
TAOh—THE V=0.209m3/10m H=120 m 1,118
AsTOERALIE m3 23




% A I N R =
1§ it =1 = BAfST =
BRI
FAH—TEHE V=0.3m2 H=160
No. 104 + 5000 ~ No. 160 + 3000 L= 1,118000 m| m 1,118
L= 1,118000 m| m 1,118
T AHh—TH#ZE V=0.209m2 H=120
No. 104 + 5000 ~ No. 160 + 3000 L= 1,118000 m| m 1,118
L= 1,118000 m| m 1,118
AsFROE KL IR
V= 00209 «x 1,118.000 = 23.366 m3| m3 23




RERT HBEHE

Al Gt Al RO® By = ]

I E%GrT

RERI=h - ERE - E m 950

{REZHEHGrEk & - 1= m 60
REEET

RBFEZRE A = 1

RBFEERE B = 1
B T

23 BABRIRL ORI .

STERBIH LEDINAT—. IW)=5- = 1
AFHERME

ArhERHE = 1




( RERZS=ZH—FLRTL BEH )

RERS-N - YATLERE -BWERER L=

950 m

- (FETER1,118m) + (7—1n"—EB12m)

— (EEEEF2x60m) — (TEREMHAOG0M)

950m

£ RVAE

aR2¥3vFa—-TJ

FARIVRAFa T
“ IVK9—-3FI 72.0kg
IZH-KILAVE
o =H
3293 ¥ ~FHMG-CT 16,2kg) (S-VB[I-A- FAKATE
o 1T
8 O 1
J& 1420 § = O
1500 1500
F4 RV RFa1-FMG-DT 14.2kg)
== - -
) 1420 L . °
L 1500 = P 8
SZA-RILAYMMG-E 49.8kg) A 5 5 2 AT
I=—HN-KIL AV [MG-E 498
T TR Jx9Y3vyFa~-TJ |IMG-CT 16.2
L—4 L_‘E' F4RI9VYARFa—T ng—?; 1742%
g O [Ty 'EE“ : : "E' % izi:f—s—iﬁ)b :
Bd 1500 | sw | Savras o e
SRR MR v [ ,<> - . mziMG-SP 6.8
ITH-NILAvk 49.8kg/1.5m
I9avFa-7 16.2kg/1.5m
TARIYAF2=7 14.2kg/1.5m &5t = 80.2kg/15m — 53.47 kg/m
O EifE=E = 950.0 m X 53.47 kg/m
= 50,796.5 kg
= 50.8 t
© FREH
R2—3F)L2.0m/fE) = 4 m
ILAVRISm/AE) = 946 m



( {RERHEN-FL-V SER )

60 m

L

{REEHEN - L-IERE - HEER

JEEEET2E AT X 30m=60m

FEEFEEFT@E
S”H—K , S2H—K
&@@72}"\ " \ N
AL "
A 7 ,“)q
Sy \3\"&\

{ HER Gr 609kg/5m > 121.8 kg/m
O EiRES 60.0 m X 121.8 kg/m

7,308.0 kg

713t



